

Article

Not peer-reviewed version

Who Is a Zero Dose Child? Comparing Different Approaches To Define Zero Dose Children and How Their Profile Changes Based on the Definition Through an Analysis of 82 Low- and Middle-Income Countries

Chizoba Wonodi and Brooke Amara Farrenkopf *

Posted Date: 15 June 2023

doi: 10.20944/preprints202306.1114.v1

Keywords: zero dose children; sociodemographic profile; indicators; vulnerability; zero dose definition; immunization equity



Preprints.org is a free multidiscipline platform providing preprint service that is dedicated to making early versions of research outputs permanently available and citable. Preprints posted at Preprints.org appear in Web of Science, Crossref, Google Scholar, Scilit, Europe PMC.

Copyright: This is an open access article distributed under the Creative Commons Attribution License which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Disclaimer/Publisher's Note: The statements, opinions, and data contained in all publications are solely those of the individual author(s) and contributor(s) and not of MDPI and/or the editor(s). MDPI and/or the editor(s) disclaim responsibility for any injury to people or property resulting from any ideas, methods, instructions, or products referred to in the content.

Article

Who Is a Zero Dose Child? Comparing Different Approaches To Define Zero Dose Children and How Their Profile Changes Based on the Definition Through an Analysis of 82 Low- and Middle-Income Countries

Chizoba Wonodi 1,† and Brooke Farrenkopf 2,*,†

- ¹ Johns Hopkins Bloomberg School of Public Health, International Vaccine Access Center, Baltimore, MD, USA; cwonodi@jhu.edu
- ² Johns Hopkins Bloomberg School of Public Health, International Vaccine Access Center, Baltimore, MD, USA
- * Correspondence: bfarrenkopf@jhu.edu; Tel.: +019495474913
- [†] The authors contributed equally on this work.

Abstract: While there is a coordinated effort around reaching zero dose children and closing existing equity gaps in immunization delivery, it's important that there is agreement and clarity around how 'zero dose status' is defined and what is gained and lost by using different indicators for zero dose status. There are two popular approaches used in research, program design, and advocacy to define zero dose status: one uses a single vaccine to serve as a proxy for zero dose status, while another uses a subset of vaccines to identify children who have missed all routine vaccines. We provide a global analysis utilizing the most recent publicly available DHS and MICS data to compare the number, proportion, and profile of children 12 to 23 months who are 'penta-zero dose' (have not received the pentavalent vaccine), 'truly' zero dose (have not received the BCG, polio, pentavalent, and measles vaccines), and 'misclassified' zero dose children (those who are penta-zero dose but have received at least one other vaccine). Our analysis includes 194,829 observations from 82 low- and middle-income countries. Globally, 14.2% of children are penta-zero dose and 7.5% are truly zero dose, suggesting that 46.5% of penta-zero dose children have had at least one contact with the immunization system. While there are similarities in the profile of children that are penta-zero dose and truly zero dose, there are key differences between the proportion of key characteristics among truly zero dose and misclassified zero dose children, including access to maternal and child health services. By understanding the extent of connection zero dose children may have with the health and immunization system and contrasting it with how much the use of a more feasible definition of zero dose may underestimate the level of vulnerability in the zero dose population, we provide insights that can help immunization programs design strategies that better target the most disadvantaged populations. If the vulnerability profiles of the truly zero dose children are qualitatively different from that of the penta zero dose children, then failing to distinguish the truly zero dose populations, and how to optimally reach them, may lead to the development of misguided or inefficient strategies for vaccinating the most disadvantaged population of children.

Keywords: zero dose children; zero dose definition; immunization equity; sociodemographic profile; indicators; vulnerability

1. Introduction

Addressing the problem of zero dose children is a central concern of the global immunization community because zero dose children constitute a gap in population immunity from vaccine-preventable diseases, and are emblematic of the unequal access to essential health services faced by families across the world, especially in LMICs. The Immunization Agenda 2030 (IA2030) has as one of its impact goals a 50% reduction in the number of zero dose children in the world by 2030 (1). Similarly, the Gavi 5.0 strategy declares reaching zero dose children and missed communities a core priority with equity as the organizing principle (2). This implies that the zero dose agenda is driven

primarily by the moral, social, and economic imperative to address structural inequities and reach the most vulnerable and marginalized in the population with health services.

To drive efforts on the zero dose agenda, Gavi, the Vaccine Alliance has published the IRMMA framework (identify, reach, monitor, measure and advocate) as an operational framework with which country Expanded Program on Immunization (EPI) programs can anchor tailored interventions (3). This framework posits that in order to reach zero dose children and link them to services, EPI programs must first identify them (3). However, in order to identify zero dose children, programs must first define them. So who is a zero dose child?

There is much discussion about the definition used to characterize zero dose children with questions about what antigen forms the basis of the definition and what reference age range should be considered (4, 5). From a purist perspective, zero dose status should be assigned when a child has received no antigen from the immunization program. Estimating this purist definition of zero dose requires survey data, such as Demographic and Health Surveys (DHS) or Multi-Indicator Cluster Surveys (MICS) data, or vaccination registry data that captures vaccination information at the individual level. In many low- and middle-income countries with no, or incomplete vaccination registries, this analysis can only be done when survey data become available, usually at intervals of two to five years (6, 7). Furthermore, these survey data do not provide estimates below the first subnational level, precluding real-time monitoring at lower levels and greatly hindering performance management at the sub-district levels where it matters the most (8). While survey data is limited in the frequency and granularity, it has the advantage of providing information on socio-demographic characteristics and thus helps improve our understanding of who is truly zero dose and why they are zero dose (8, 9).

Given the limitations of the purist definition of the zero dose child, for operational purposes, zero dose has been defined by immunization experts as non-receipt of the first dose of the diphtheria-tetanus-pertussis-containing vaccine (DTP1), the penta-zero dose (3, 4). This is based on practical considerations that administrative data, which is available in real time and down to the facility level, can be used to estimate the number of children who have missed out on essential vaccination services in a given locality, and thus be useful for regular and localized monitoring of immunization program performance on zero dose (10, 11). However, quality issues with routine administrative data, such as incomplete or missing reporting, inconsistency in reporting formats and denominator estimation challenges, is a common drawback of administrative data (10). Faulty denominators may lead to either an overestimation or underestimation of the number of zero dose children. Sometimes this under-estimation produces improbable values of negative zero dose children (6, 12, 13, 14). The lower the level, and the smaller the geographic area, the more distorted the estimates from faulty administrative data become (13).

By design, the practical definition does not account for vaccine doses given at birth such as BCG, Hepatitis B 0, and polio 0. There is also an implicit assumption that penta-zero dose children aged 12 months and above, who did not receive DTP1, also did not receive the antigens co-administered on the DTP schedule, or shots given at nine months and the second year of life (measles and, in some countries, yellow fever). Choosing to ignore that some penta-zero dose children may have also received birth dose vaccines, and other vaccines, means that we are also ignoring the possibility that penta-zero dose children may have a different profile from children who are truly zero dose for all antigens.

Given the utility of the operational definition of zero dose as no-DTP1, it is important to understand what is 'gained' – in terms of ease of measurement and monitoring – and 'lost' – in terms of an accurate count and sociodemographic profiling when using each definition.

2. Materials and Methods

2.1. Data

Data from the United States Agency for International Development's (USAID) DHS and the United Nations Children's Fund's (UNICEF) MICS were utilized in our analysis (15, 16). The most

recent survey with immunization data available from 2010 to 2020 from low- and middle-income countries were included. The information utilized in the DHS/MICS was collected through in-person interviews with women between 15 and 49 years of age on the health and immunization status of their children 12 to 35 months (17). DHS and MICS are nationally representative, conducted approximately every five years, and follow a complex, two-stage cluster sampling design (17). Data from the World Bank Group on the per capita gross national income of the year that the survey was conducted were utilized to classify countries as low, lower-middle, and upper-middle income (18). In addition, birth cohort estimates from the United Nations World Population Prospects 2022 were also utilized, as described below (19, 20).

2.2. Country Selection

Low income, lower-middle, and upper-middle income countries with DHS/MICS data available from 2010 to 2020 were included in the analyses (15, 16).

2.3. Outcome Measures

Children ages 12 to 23 months are included in this analysis, as they should have received routine immunizations within their first year of life. This age group is in line with other recent work and analyses, and allows comparison across DHS/MICS and WUENIC data, which consider the same age groups (5, 19, 21). Vaccine receipt is confirmed either by vaccine card or record or caregiver recall when a vaccine record was not available in the DHS/MICS interview; including both records and caregiver recall gives a more conservative estimate of zero dose vaccination among households with missing vaccine cards (17). The following three outcomes are utilized in our analysis:

- Penta-zero dose Children 12 to 23 months that have not received the first dose of the diphtheria-tetanus-pertussis-containing vaccine, per DHS/MICS data. The pentavalent vaccine is commonly used as the vaccine to protect against diphtheria, tetanus, and pertussis, as it protects against those three diseases, hepatitis B and Haemophilus influenzae type b and has been widely supported in the countries included in the analysis through Gavi support. The pentavalent vaccine replaced the DTP vaccine in many countries, hence the common usage of no-DTP1 to account for places where penta has not been introduced. The vaccine is given in three doses, usually at 6, 10 and 14 weeks of age. Oral polio, the pneumococcal conjugate vaccine, and rotavirus vaccine (one dose at 14 week) are other antigens co-administered during the visits for pentavalent vaccines. If a child failed to get the first dose of the vaccine, it follows that they failed to get subsequent doses of pentavalent vaccine. It is assumed that they also failed to get the co-administered vaccines.
- Truly zero dose Children 12 to 23 months that have not received any doses of each of the
 following vaccines, per DHS/MICS data: Bacille Calmette-Guérin (BCG), polio, pentavalent,
 and measles-containing vaccines (MCV). The assumption here is that having not received the
 pentavalent series, these children also did not receive other vaccines co-administered with the
 same schedule.
- Misclassified zero dose children Children 12 to 23 months who have not received the first
 dose of the pentavalent vaccine but have received at least one dose of the following vaccines per
 DHS/MICS data: BCG, polio, and measles-containing vaccines. This shows that this subset of
 the penta-zero dose children had indeed received some vaccination, but are 'misclassified' as
 being zero dose per the penta-zero dose definition.

2.4. Variables Selection

We reviewed literature to identify sociodemographic factors related to poor access to immunization services. In selecting from variables with data available in both the DHS and MICS, we included the following variables in our analyses: residence (rural vs. urban living), wealth quintile, maternal education level (no education vs. education (primary and above)), mother's age group (adolescent (15-19 years) vs. adult (20-49 years)), location of delivery (home vs. facility), level of antenatal care (ANC) visits (none (0 visits), low (1-3 visits), 4+ visits), number of maternal tetanus injections (none (0 times), low (1 time), 2 or more), sex of child (female/male), illness with diarrhea in

the past two weeks (yes vs. no/caregiver does not know), illness with cough in the past two weeks (yes vs. no/caregiver does not know), illness with fever in the past two weeks (yes vs. no/caregiver does not know), treatment for recent cough/fever at a health facility (no vs. yes), and treatment for recent diarrhea at a health facility (no vs. yes).

2.5. Estimating the Zero Dose and Misclassified Populations

First, birth cohort data (measured as 'births (thousands)' by United Nations Population Division) from the 2022 United Nations World Population Prospects for the year that the DHS/MICS was published were obtained for all countries in the analysis. Then, to estimate the number of children at age 12 months, the inverse of the infant mortality rates per 1,000 live births from the World Bank Group for the year DHS/MICS was published for each country were multiplied by the birth cohort data to estimate the number of children at age 12 months. To estimate the number of penta-, truly, and misclassified zero dose children, the prevalence of each of these outcomes was multiplied by the estimated number of children 12 months in each country. This was then summed globally and by country income groups.

2.6. Conducting Statistical Analyses

Descriptive statistical analyses incorporating the complex survey design were utilized to generate the proportion of each zero dose outcome and the proportion of each characteristic across the full population and across the penta-, truly, and misclassified zero dose populations. The difference between proportions were tested between the truly zero dose and misclassified zero dose children utilizing adjusted Wald tests that accounted for the survey design (22). Statistical significance was assessed at the alpha=0.05 level. To generate standard errors required to conduct the adjusted Wald tests, strata with one sampling unit were centered at the grand mean, as this is a conservative approach to handle single-unit stratum (23). An analysis of missing data for each variable was conducted to explain the extent of missingness and potential biases. All statistical analyses were completed in Stata 14.2.

In addition, to understand the receipt of vaccines received by misclassified children, we created variables to consider the misclassified children who received one, two, and three other vaccines. We then assessed the singular or combination of vaccines received to generate frequency estimates by each grouping (i.e., percentage of misclassified zero dose children who received only polio vaccine).

2.7. Conducting Vulnerability Analysis

To identify the children that experience cross-cutting vulnerability and are at an elevated disadvantage compared to other children, we created two simple indicators. We did this to see how the understanding of zero dose status changed among the most vulnerable subset of the population. Indicator A considers overall vulnerability and includes variables related to household income, maternal education, and maternal health access. Among the children in the households in the poorest wealth quintile, we identified children with mothers who did not receive primary education and did not receive any antenatal care visits. Indicator B considers vulnerability related to limited access to maternal care services, and includes children who were born at home and who have mothers who did not receive any ANC visits and tetanus injections.

- Indicator A Overall vulnerability: Poorest wealth quintile, no maternal education, 0 ANC
- Indicator B Health access vulnerability: 0 ANC visits, 0 tetanus injections, home delivery.

3. Results

Eighty-two (82) low- and middle-income countries were included in our analysis, with 27 low-income, 37 lower-middle income, and 18 upper-middle income countries. In total, 194,829 observations were included in the analysis, with 30.3% (N=58,998) of the observations from low income countries (LIC), 58.8% (N=114,572) from lower-middle income countries (LMIC), and 10.9%

(N= 21,259) from upper-middle income countries (UMIC). Overall, 47 DHS and 35 MICS were included. The median survey year was 2017, and 75% of the surveys were published in 2015 or later.

When defining zero dose as children 12-23 months who have not received a single dose of the pentavalent vaccine - called 'penta-zero dose' for this analysis - 14.2% of children across the 82 countries in our analysis are classified as zero dose (**Table 1**). When defining zero dose as the children 12 to 23 months who have not received a single dose of the BCG, polio, pentavalent, or measlescontaining vaccines (MCV) - called 'truly zero dose' for this analysis - 7.5% of children are classified as zero dose. This means that 6.6% of children 12 to 23 months are 'misclassified' as zero dose: they have not received any doses of the pentavalent vaccine, but have received at least one other vaccine (BCG, polio, or MCV) and have therefore had a connection with the immunization system. This is nearly half (46.5%) of the children considered zero dose using the penta-zero dose definition, with a similar proportion misclassified in low-income countries (LICs) and lower-middle income countries (LMICs). Nearly one in five (19.1%) of children are penta-zero dose in LICs, and more than 1 in 8 are penta-zero dose in LMICs. Although there is a smaller overall proportion of zero dose in upper-middle income countries (UMICs) (9.4% penta-zero dose and 4.0% truly zero dose), a greater proportion (57.6%) are misclassified, meaning that over half of the zero dose children are not truly zero dose and have successfully been reached at least once by the immunization system.

Table 1. Proportion of children 12 to 23 months in 82 low and middle income countries who are pentazero dose, truly zero dose, and misclassified as zero dose, globally and by country income level using DHS/MICS data.

	Penta-zero	•		Percentage of penta- zero dose children that
	dose children	dose children	dose children	are misclassified as zero dose
Percentage of zero dose children, global	14.2	7.5	6.6	46.5
Low income countries (LIC)	19.1	10.4	8.6	45.0
Lower-middle income countries (LMIC)	13.0	7.0	6.1	46.9
Upper-middle income countries (UMIC)	9.4	4.0	5.4	57.4

When incorporating population estimates to ascertain the number of zero dose children 12 to 23 months across the countries in our analysis, there are approximately 13,182,969 penta-zero dose children and 7,051,117 'truly' zero dose children (**Table 2**). The number of zero dose children is nearly double when using the penta-zero dose definition, with an estimated 6,131,852 children misclassified as zero dose but haven been vaccinated with at least one antigen. This can have equity implications on programs that aim to vaccinate the most vulnerable children or aim to vaccinate a target proportion or number of 'zero dose' children. In upper-middle income countries, there are a higher number of misclassified zero dose children than truly zero dose children, yet we see a higher number of truly zero dose children than misclassified children in LICs and LMICs. To note, the number of zero dose and misclassified zero dose children across each country's income group is dependent on the number of and population of the countries in each group included in the analysis, with a smaller number of UMICs included in this analysis.

Table 2. Number of children 12 to 23 months in 82 low and middle income countries who are pentazero dose, truly zero dose, and misclassified as zero dose, globally and by country income level.

	Penta-zero dose	Truly zero dose	Misclassified zero dose
	children	children	children
Number of children, global	13,182,969	7,051,117	6,131,852
LIC	4,102,253	2,271,649	1,830,603
LMIC	8,464,174	4,515,466	3,948,708
UMIC	616,543	264,002	352,540

Table 3 shows the proportion of factors potentially associated with non-immunization, in the full population in the analysis and among penta-zero dose children, truly zero dose children, and misclassified zero dose children, with p-values to test the difference between proportions in the truly zero dose and misclassified populations. Approximately two-thirds (65.3%) of children in the full analysis live in rural areas, but three-fourths (74.8%) of penta-zero dose and truly zero dose children live in rural areas, with no significant difference in the percentage of children living in rural areas between truly zero dose and misclassified zero dose children. Over one third (36%) of the penta-zero dose children are in the poorest wealth quintile, with 37.5% of the truly zero dose children in the poorest quintile. The 'misclassified' zero dose children are less likely to be in the lowest wealth quintile (34.5%), and the difference between the proportion of children in the lowest wealth quintile is significantly different in the truly zero dose and misclassified zero dose group (p=0.005). Truly zero dose children are 9% more likely to be in the poorest wealth quintile than the misclassified zero dose children, with the differences statistically significant in LICs, but not in LMICs or UMICs. Urban vs. rural living, sex of child, mother's adolescent age, and maternal education are not significantly different between truly and misclassified zero dose children. We do, though, see a higher proportion of penta- and truly zero dose children living in rural areas, having mothers of adolescent age, and having no education than we see in the full population, suggesting that these are factors associated with zero dose status, but do not differ by definition used.

There is a higher percentage of children who have mothers without any ANC visits and without any tetanus injection among zero dose children (regardless of definition) than the full population, globally and in all country income groups. We also see a difference in between the truly and misclassified zero dose children for these characteristics, suggesting that lack of maternal care is more common among zero dose children, and especially among truly zero dose children. A similar relationship is seen with home deliveries; there is a higher proportion of children born at home in the zero dose population (regardless of definition) than the full population, but that there is also a higher proportion in truly zero dose children than misclassified zero dose children.

Table 3. Characteristics of children overall and in each zero dose definition, with tests to detect difference between proportions in truly zero dose and misclassified zero dose children.

	Full population (regardless of vaccination status)	Penta- zero dose children	Truly zero dose children	Comparison b Misclassified zero dose children	etween proport Comparison of proportions (proportion of characteristic in truly vs. misclassified zero dose children)	p-value (comparing truly zero dose and misclassified)
N*, global	194,829	29,155	15,966	13,189	-	-
LIC	58,998	11,500	6,418	5,082	-	-

LMC							
Proportion rural, global G53 74.8 75.8 73.6 1.03 0.054 global CIC 73.9 82.6 84.1 80.9 1.04 0.055 CIMIC 65.5 74.3 74.5 74.0 1.01 0.74 0.075 CIMIC 34.6 29.5 28.1 30.5 0.92 0.613 0.92 0.613 0.92 0.613 0.92 0.613 0.92 0.613 0.92 0.613 0.92 0.613 0.92 0.613 0.92 0.613 0.92 0.613 0.92 0.613 0.92 0.613 0.92 0.613 0.92 0.613 0.92 0.613 0.92 0.005 0.92 0.005 0.92 0.005 0.92 0.005 0.92 0.005 0	LMIC	114,572	15,289	8,771	6,518	-	-
rural, 65.3 74.8 75.8 73.6 1.03 0.054 global LIC 73.9 82.6 84.1 80.9 1.04 0.055 LMIC 65.5 74.3 74.5 74.0 1.01 0.747 UMIC 65.5 74.3 75.5 34.3 1.09 0.005 UMIC 62.5 72.2 77.7 26.8 1.03 0.890 UMIC 64.8 48.9 49.5 49.0 50.1 0.98 0.355 female, global LIC 50.1 50.4 51.4 49.3 1.04 0.303 UMIC 64.8 49.0 47.8 50.4 0.95 0.076 UMIC 65.1 50.1 50.0 50.7 51.2 0.99 0.943 Adolescent mother, proportion with 6.1 7.4 7.5 7.4 1.01 0.887 mother 15-19 years, global LIC 8.2 9.4 9.5 9.4 1.01 0.923 UMIC 5.2 6.4 6.5 6.2 1.05 0.615 UMIC 6.5 9.8 7.9 11.1 0.71 0.275 Mother without education, proportion with mother 27.5 51.0 51.5 50.5 1.02 0.443 who did not receive primary education, global LIC 40.8 54.3 56.2 51.9 1.08 0.057 UMIC 62.5 52.2 51.5 52.9 0.97 0.396 UMIC 4.7 12.4 8.8 15.1 0.58 0.017 Maternal health		21,259	2,366	777	1,589	-	-
Second	-						
LIC 73.9 82.6 84.1 80.9 1.04 0.055 LMC 65.5 74.3 74.5 74.0 1.01 0.747 UMIC 34.6 29.5 28.1 30.5 0.92 0.613 Proportion in the poorest wealth quintile, global LIC 22.4 32.8 35.9 29.0 1.24 <0.001 LMIC 23.5 27.2 27.7 26.8 1.03 0.890 Child gender, proportion female, global LIC 50.1 50.4 51.4 49.3 1.04 0.303 LMC 48.4 49.0 47.8 50.4 0.95 0.076 UMIC 50.1 51.0 50.7 51.2 0.99 0.943 Adolescent mother, proportion with 6.1 7.4 7.5 7.4 1.01 0.887 Mother without education, proportion with mother 27.5 51.0 51.5 50.5 1.02 0.443 Mother without education, global LIC 40.8 54.3 56.2 51.9 1.08 0.057 LMC 25.5 52.2 51.5 52.9 0.97 0.396 LMC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 47. 12.4 8.8 15.1 0.58 Matemale health	-	65.3	74.8	75.8	73.6	1.03	0.054
LMIC 65.5 74.3 74.5 74.0 1.01 0.747	0						
UMIC 34.6 29.5 28.1 30.5 0.92 0.613							
Proportion in the poorest wealth quintile, global LIC 22.4 32.8 36.0 37.5 34.3 1.09 0.005 LIC 22.4 32.8 35.9 29.0 1.24 <0.001 LMIC 22.8 38.1 38.8 37.4 1.04 0.329 LMIC 23.5 27.2 27.7 26.8 1.03 0.890 Child gender, proportion 48.9 49.5 49.0 50.1 0.98 0.355 female, global LIC 50.1 50.4 51.4 49.3 1.04 0.303 LMIC 48.4 49.0 47.8 50.4 0.95 0.076 UMIC 50.1 51.0 50.7 51.2 0.99 0.943 Adolescent mother, proportion with 6.1 7.4 7.5 7.4 1.01 0.887 mother 15-19 years, global LIC 8.2 9.4 9.5 9.4 1.01 0.923 LMIC 52. 64.4 6.5 6.2 1.05 0.615 UMIC 55.2 64.4 6.5 6.2 1.05 0.615 UMIC 8.5 9.8 7.9 11.1 0.71 0.275 Mother without education, proportion with mother 27.5 51.0 51.5 50.5 1.02 0.443 mother 27.5 51.0 51.5 50.5 1.02 0.443 Mother who did not receive primary education, global LIC 40.8 54.3 56.2 51.9 1.08 0.057 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 47 12.4 8.8 15.1 0.58 0.017 Maternal health							
in the poorest wealth 22.8 36.0 37.5 34.3 1.09 0.005 wealth quintile, global LIC 22.4 32.8 38.1 38.8 37.4 1.04 0.329 UMIC 23.5 27.2 27.7 26.8 1.03 0.890 Child gender, proportion 48.9 49.5 49.0 50.1 0.98 0.355 female, global LIC 50.1 50.4 51.4 49.3 1.04 0.303 LMIC 48.4 49.0 47.8 50.4 0.95 0.076 UMIC 50.1 51.0 50.7 51.2 0.99 0.943 Adolescent mother, proportion with 6.1 7.4 7.5 7.4 1.01 0.887 mother 15-19 years, global LIC 8.2 9.4 9.5 9.4 1.01 0.887 mother 15-19 years, global LIC 5.2 6.4 6.5 6.2 1.05 0.615 UMIC 8.5 9.8 7.9 11.1 0.71 0.275 Mother without education, proportion with mother 27.5 51.0 51.5 50.5 1.02 0.443 who did not receive primary education, global LIC 40.8 54.3 56.2 51.9 1.08 0.057 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 4.7 12.4 8.8 15.1 0.58 0.017 Material health		34.6	29.5	28.1	30.5	0.92	0.613
poorest wealth quintile, global cliff 22.8 36.0 37.5 34.3 1.09 0.005 LIC splots cliff 22.4 32.8 35.9 29.0 1.24 <0.001	-						
wealth quintile, global 22.8 36.0 37.5 34.3 1.09 0.005 LIC 22.4 32.8 35.9 29.0 1.24 <0.001							
quintile, global companience of the companience o	-	22.8	36.0	37.5	34.3	1.09	0.005
Section Sect							
LIC 22.4 32.8 35.9 29.0 1.24 <0.001 LMIC 22.8 38.1 38.8 37.4 1.04 0.329 UMIC 23.5 27.2 27.7 26.8 1.03 0.890 Child gender, proportion 48.9 49.5 49.0 50.1 0.98 0.355 female, global LIC 50.1 50.4 51.4 49.3 1.04 0.303 LMIC 48.4 49.0 47.8 50.4 0.95 0.076 UMIC 50.1 51.0 50.7 51.2 0.99 0.943 Adolescent mother, proportion with 6.1 7.4 7.5 7.4 1.01 0.887 mother 15- 19 years, global LIC 8.2 9.4 9.5 9.4 1.01 0.923 LMIC 8.5 9.8 7.9 11.1 0.71 0.275 Mother without education, proportion with mother 27.5 51.0 51.5 50.5 1.02 0.443 who did not receive primary education, global LIC 40.8 54.3 56.2 51.9 1.08 0.057 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 4.7 12.4 8.8 15.1 0.58 0.017	-						
LMIC 22.8 38.1 38.8 37.4 1.04 0.329 UMIC 23.5 27.2 27.7 26.8 1.03 0.890 Child gender,	0	22.4	22.0	2= 0	20.0	4.04	0.004
UMIC 23.5 27.2 27.7 26.8 1.03 0.890 Child gender, proportion female, proportion female, global 48.9 49.5 49.0 50.1 0.98 0.355 LMC 50.1 50.4 51.4 49.3 1.04 0.303 LMIC 48.4 49.0 47.8 50.4 0.95 0.076 UMIC 50.1 51.0 50.7 51.2 0.99 0.943 Adolescent mother, proportion with 6.1 7.4 7.5 7.4 1.01 0.887 Mother 15-19 years, global ILIC 8.2 9.4 9.5 9.4 1.01 0.923 LMIC 5.2 6.4 6.5 6.2 1.05 0.615 UMIC 8.5 9.8 7.9 11.1 0.71 0.275 Mother without education, proportion with mother 27.5 51.0 51.5 50.5 1.02 0.443 who did not receive primary education, global 20.0							
Child gender, proportion 48.9 49.5 49.0 50.1 0.98 0.355 female, global LIC 50.1 50.4 51.4 49.3 1.04 0.303 LMIC 48.4 49.0 47.8 50.4 0.95 0.076 UMIC 50.1 51.0 50.7 51.2 0.99 0.943 Adolescent mother, proportion with 6.1 7.4 7.5 7.4 1.01 0.887 mother 15-19 years, global LIC 8.2 9.4 9.5 9.4 1.01 0.923 LMIC 5.2 6.4 6.5 6.2 1.05 0.615 UMIC 8.5 9.8 7.9 11.1 0.71 0.275 Mother without education, proportion with mother 27.5 51.0 51.5 50.5 1.02 0.443 who did not receive primary education, global LIC 40.8 54.3 56.2 51.9 1.08 0.057 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 4.7 12.4 8.8 15.1 0.58 0.017 Maternal health							
gender, proportion female, global 48.9 49.5 49.0 50.1 0.98 0.355 female, global LIC 50.1 50.4 51.4 49.3 1.04 0.303 LMIC 48.4 49.0 47.8 50.4 0.95 0.076 UMIC 50.1 51.0 50.7 51.2 0.99 0.943 Adolescent mother, proportion with 6.1 7.4 7.5 7.4 1.01 0.887 Adolescent mother, proportion with 6.1 7.4 7.5 7.4 1.01 0.887 Hother states 8.2 9.4 9.5 9.4 1.01 0.923 LMIC 5.2 6.4 6.5 6.2 1.05 0.615 UMIC 8.5 9.8 7.9 11.1 0.71 0.275 Mother without education, proportion with mother 27.5 51.0 51.5 50.5 1.02 0.443 mother primary education, global 1.1 1.08 0.057		23.5	27.2	27.7	26.8	1.03	0.890
Proportion 48.9 49.5 49.0 50.1 0.98 0.355							
female, global LIC 50.1 50.4 51.4 49.3 1.04 0.303 LMIC 48.4 49.0 47.8 50.4 0.95 0.076 UMIC 50.1 51.0 50.7 51.2 0.99 0.943 Adolescent mother, proportion with 6.1 7.4 7.5 7.4 1.01 0.887 mother 15-19 years, global LIC 8.2 9.4 9.5 9.4 1.01 0.923 LMIC 5.2 6.4 6.5 6.2 1.05 0.615 UMIC 8.5 9.8 7.9 11.1 0.71 0.275 Mother without education, proportion with mother 27.5 51.0 51.5 50.5 1.02 0.443 who did not receive primary education, global LIC 40.8 54.3 56.2 51.9 1.08 0.057 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC <	•	10.0	40.5	40.0	- 0.4	0.00	0.055
global LIC 50.1 50.4 51.4 49.3 1.04 0.303 LMIC 48.4 49.0 47.8 50.4 0.95 0.076 UMIC 50.1 51.0 50.7 51.2 0.99 0.943 Adolescent mother, proportion with 6.1 7.4 7.5 7.4 1.01 0.887 mother 15- 19 years, global LIC 8.2 9.4 9.5 9.4 1.01 0.923 LMIC 5.2 6.4 6.5 6.2 1.05 0.615 UMIC 8.5 9.8 7.9 11.1 0.71 0.275 Mother without education, proportion with mother 27.5 51.0 51.5 50.5 1.02 0.443 who did not receive primary education, global LIC 40.8 54.3 56.2 51.9 1.08 0.057 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 4.7 12.4 8.8 15.1 0.58 0.017		48.9	49.5	49.0	50.1	0.98	0.355
LIC 50.1 50.4 51.4 49.3 1.04 0.303 LMIC 48.4 49.0 47.8 50.4 0.95 0.076 UMIC 50.1 51.0 50.7 51.2 0.99 0.943 Adolescent mother, proportion with 6.1 7.4 7.5 7.4 1.01 0.887 mother 15- 19 years, global LIC 8.2 9.4 9.5 9.4 1.01 0.923 LMIC 5.2 6.4 6.5 6.2 1.05 0.615 UMIC 8.5 9.8 7.9 11.1 0.71 0.275 Mother without education, proportion with mother 27.5 51.0 51.5 50.5 1.02 0.443 who did not receive primary education, global LIC 40.8 54.3 56.2 51.9 1.08 0.057 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 4.7 12.4 8.8 15.1 0.58 0.017							
LMIC 48.4 49.0 47.8 50.4 0.95 0.076 UMIC 50.1 51.0 50.7 51.2 0.99 0.943 Adolescent mother, proportion with 6.1 7.4 7.5 7.4 1.01 0.887 mother 15-	0	5 0.4	E0.4	E4 4	40.2	1.04	0.000
UMIC 50.1 51.0 50.7 51.2 0.99 0.943 Adolescent mother, proportion with 6.1 7.4 7.5 7.4 1.01 0.887 mother 15-19 years, global LIC 8.2 9.4 9.5 9.4 1.01 0.923 LMIC 5.2 6.4 6.5 6.2 1.05 0.615 UMIC 8.5 9.8 7.9 11.1 0.71 0.275 Mother without education, proportion with mother 27.5 51.0 51.5 50.5 1.02 0.443 who did not receive primary education, global LIC 40.8 54.3 56.2 51.9 1.08 0.057 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 4.7 12.4 8.8 15.1 0.58 0.017							
Adolescent mother, proportion with 6.1 7.4 7.5 7.4 1.01 0.887 mother 15- 19 years, global LIC 8.2 9.4 9.5 9.4 1.01 0.923 LMIC 5.2 6.4 6.5 6.2 1.05 0.615 UMIC 8.5 9.8 7.9 11.1 0.71 0.275 Mother without education, proportion with mother 27.5 51.0 51.5 50.5 1.02 0.443 who did not receive primary education, global LIC 40.8 54.3 56.2 51.9 1.08 0.057 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 4.7 12.4 8.8 15.1 0.58 0.017 Maternal health							
mother, proportion with mother 15- 19 years, global		50.1	51.0	50.7	51.2	0.99	0.943
with with with mother 6.1 7.4 7.5 7.4 1.01 0.887 mother 15-19 years, global Secondary of the properties							
with mother 15- 6.1 7.4 7.5 7.4 1.01 0.887 mother 15- 19 years, global LIC 8.2 9.4 9.5 9.4 1.01 0.923 LMIC 5.2 6.4 6.5 6.2 1.05 0.615 UMIC 8.5 9.8 7.9 11.1 0.71 0.275 Mother without education, proportion with mother 27.5 51.0 51.5 50.5 1.02 0.443 who did not receive primary education, global LIC 40.8 54.3 56.2 51.9 1.08 0.057 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 4.7 12.4 8.8 15.1 0.58 0.017							
mother 15- 19 years, global LIC 8.2 9.4 9.5 9.4 1.01 0.923 LMIC 5.2 6.4 6.5 6.2 1.05 0.615 UMIC 8.5 9.8 7.9 11.1 0.71 0.275 Mother without education, proportion with mother 27.5 51.0 51.5 50.5 1.02 0.443 who did not receive primary education, global LIC 40.8 54.3 56.2 51.9 1.08 0.057 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 4.7 12.4 8.8 15.1 0.58 0.017 Maternal health		(1	7.4	7 5	7.4	1 01	0.007
19 years, global LIC 8.2 9.4 9.5 9.4 1.01 0.923 LMIC 5.2 6.4 6.5 6.2 1.05 0.615 UMIC 8.5 9.8 7.9 11.1 0.71 0.275		6.1	7.4	7.5	7.4	1.01	0.887
LIC 8.2 9.4 9.5 9.4 1.01 0.923 LMIC 5.2 6.4 6.5 6.2 1.05 0.615 UMIC 8.5 9.8 7.9 11.1 0.71 0.275							
LIC 8.2 9.4 9.5 9.4 1.01 0.923 LMIC 5.2 6.4 6.5 6.2 1.05 0.615 UMIC 8.5 9.8 7.9 11.1 0.71 0.275 Mother without education, proportion with mother 27.5 51.0 51.5 50.5 1.02 0.443 who did not receive primary education, global LIC 40.8 54.3 56.2 51.9 1.08 0.057 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 4.7 12.4 8.8 15.1 0.58 0.017	-						
LMIC 5.2 6.4 6.5 6.2 1.05 0.615 Mother without education, proportion with mother 27.5 51.0 51.5 50.5 1.02 0.443 who did not receive primary education, global LIC 40.8 54.3 56.2 51.9 1.08 0.057 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 4.7 12.4 8.8 15.1 0.58 0.017	•	8.2	0.1	0.5	0.4	1.01	0.023
UMIC 8.5 9.8 7.9 11.1 0.71 0.275 Mother without education, proportion with mother 27.5 51.0 51.5 50.5 1.02 0.443 who did not receive primary education, global LIC 40.8 54.3 56.2 51.9 1.08 0.057 1.08 0.057 1.08 0.057 1.08 0.057 1.08 0.057 1.08 0.017 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 0.017 UMIC 4.7 12.4 8.8 15.1 0.58 0.017							
Mother without education, proportion with mother 27.5 51.0 51.5 50.5 1.02 0.443 who did not receive primary education, global LIC 40.8 54.3 56.2 51.9 1.08 0.057 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 4.7 12.4 8.8 15.1 0.58 0.017 Maternal health							
without education, proportion with mother 27.5 51.0 51.5 50.5 1.02 0.443 who did not receive primary education, global UIC 40.8 54.3 56.2 51.9 1.08 0.057 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 4.7 12.4 8.8 15.1 0.58 0.017		0.5	7.0	1.7	11.1	0.71	0.273
education, proportion with mother 27.5 51.0 51.5 50.5 1.02 0.443 who did not receive primary education, global LIC 40.8 54.3 56.2 51.9 1.08 0.057 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 4.7 12.4 8.8 15.1 0.58 0.017 Maternal health							
proportion with mother 27.5 51.0 51.5 50.5 1.02 0.443 who did not receive primary education, global ILIC 40.8 54.3 56.2 51.9 1.08 0.057 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 4.7 12.4 8.8 15.1 0.58 0.017 Maternal health							
with mother 27.5 51.0 51.5 50.5 1.02 0.443 who did not receive primary education, global LIC 40.8 54.3 56.2 51.9 1.08 0.057 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 4.7 12.4 8.8 15.1 0.58 0.017 Maternal health							
mother who did who did not receive primary education, global 27.5 51.0 51.5 50.5 1.02 0.443 LIC 40.8 54.3 56.2 51.9 1.08 0.057 25.5 52.2 51.5 52.9 0.97 0.396 396 0.017 UMIC 4.7 12.4 8.8 15.1 0.58 0.017 Maternal health							
who did not receive primary education, global LIC 40.8 54.3 56.2 51.9 1.08 0.057 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 4.7 12.4 8.8 15.1 0.58 0.017 Maternal health		27.5	51.0	51.5	50.5	1.02	0 443
not receive primary education, global 54.3 56.2 51.9 1.08 0.057 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 4.7 12.4 8.8 15.1 0.58 0.017 Maternal health		27.0	01.0	01.0	20.2	1.02	0.110
primary education, global LIC 40.8 54.3 56.2 51.9 1.08 0.057 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 4.7 12.4 8.8 15.1 0.58 0.017 Maternal health							
education, global LIC 40.8 54.3 56.2 51.9 1.08 0.057 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 4.7 12.4 8.8 15.1 0.58 0.017 Maternal health							
global LIC 40.8 54.3 56.2 51.9 1.08 0.057 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 4.7 12.4 8.8 15.1 0.58 0.017 Maternal health							
LIC 40.8 54.3 56.2 51.9 1.08 0.057 LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 4.7 12.4 8.8 15.1 0.58 0.017 Maternal health							
LMIC 25.5 52.2 51.5 52.9 0.97 0.396 UMIC 4.7 12.4 8.8 15.1 0.58 0.017 Maternal health	0	40.8	54.3	56.2	51.9	1.08	0.057
UMIC 4.7 12.4 8.8 15.1 0.58 0.017 Maternal health 10.00 <td< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td></td<>							
Maternal health							
health							

Proportion						
with						
mothers	11.6	33.5	39.9	26.5	1.51	< 0.001
with no						
ANC visits,						
global	10.0	22.2	20.6	27.2	1 41	-0.001
LIC LMIC	12.3 12.3	33.2 35.5	38.6 42.2	27.3 28.0	1.41 1.51	<0.001 <0.001
UMIC	12.5	3.5	42.2 5.1	2.5	2.04	0.101
Proportion	1.0	3.3	3.1	2.3	2.04	0.101
with						
mothers						
with low	28.6	29.6	26.6	32.9	0.81	<0.001
ANC visits	20.0	27.0	20.0	32.9	0.01	\0.001
(1-3 visits),						
global						
LIC	40.2	36.7	35.0	38.5	0.91	0.106
LMIC	26.7	27.4	23.5	31.9	0.74	<0.001
UMIC	9.1	16.8	17.7	16.3	1.09	0.761
Proportion	> · ±	10.0	11.11	10.0	1.07	0.7 01
with						
mothers						
with no	17.5	42.1	46.9	37.0	1.27	<0.001
tetanus						
injections,						
global						
LIC	22.7	42.6	47.2	37.6	1.26	< 0.001
LMIC	16.4	43.4	48.0	38.3	1.25	< 0.001
UMIC	10.6	12.7	14.4	11.4	1.26	0.458
Proportion						
with						
mothers						
with low						
tetanus	20.1	17.1	15.5	18.7	0.83	0.001
injections						
(1						
injection),						
global						
LIC	23.7	21.1	18.9	23.3	0.81	0.008
LMIC	17.7	14.6	13.2	16.2	0.81	0.004
UMIC	35.9	34.4	41.8	29.2	1.43	0.178
Proportion						
delivered	27.4	E4 F	EO F	40.0	1 15	0 001ء
at home,	27.4	54.5	58.5	49.9	1.17	<0.001
global						
LIC	36.0	58.0	60.7	54.8	1.11	0.007
LMIC	26.7	55.7	59.9	50.9	1.18	< 0.001
UMIC	5.7	11.4	11.1	11.5	0.97	0.856

Bolded results are statistically significant at alpha=0.05. *N represents the unweighted number of observations for each sub-population in the dataset. *Appendix A* provides a missingness analysis for the variables included in this analysis.

Interestingly, children who are truly zero dose are less likely to have experienced recent diarrhea, cough, and fever globally, but were also less likely to access treatment when ill (children with illness in the past two weeks were compared with children without illness/unknown illness in the past two weeks) (Table 4). While, overall, children who were truly zero dose were less likely to have diarrhea in the past two weeks than misclassified zero dose children (19.2% vs. 23.2% of children experienced diarrhea, respectively, p<0.001), the truly zero dose children who were ill were less likely to access treatment at facilities for diarrhea if they were ill (46.6% of children with diarrhea) compared to the misclassified zero dose children (55.1%) (p=0.001), suggesting that they face additional barriers in accessing vaccines and care; similar and statistically significant findings were also seen in LMICs. Similarly, globally and in LICs and LMICs, truly zero dose children were less likely to experience cough and/or fever in the past two weeks, but were also less likely to have received care if they were ill with fever and/or cough (33% less likely than misclassified zero dose children in LICs, p=0.005). These results were not observed in UMICs, where truly zero dose children were nearly twice as likely to receive care for cough and/or fever than misclassified zero dose children, suggesting that there may be other barriers to seeking or accessing vaccination services and/or care in UMICs that were not included in this analysis.

Table 4. Characteristics of recent child illness and treatment access when ill, overall and in each zero dose definition, with tests to detect difference between proportions in truly zero dose and misclassified zero dose children.

				Comparison b	etween proport	ions
	Full population (regardless of vaccinatio n status)	Penta- zero dose children	Truly zero dose childre n	Misclassifie d zero dose children	Comparison of proportions (proportion of characteristi c in truly vs. misclassified zero dose children)	p-value (comparing truly zero dose and misclassified)
Diarrhea					Civilia	
in past						
two	19.3	21.1	19.2	23.2	0.83	<0.001
weeks,						
global						
LIC	24.5	22.5	20.2	25.3	0.80	0.202
LMIC	17.9	20.8	19.0	22.7	0.84	0.001
UMIC	16.2	15.1	11.9	17.5	0.68	0.132
Cough in						
past two weeks,	25.4	22.0	19.2	25.2	0.76	<0.001
global LIC	26.3	23.2	21.3	25.4	0.84	0.014
LMIC	26.3 25.0	23.2	18.3	25.4 25.0	0.84	0.014 <0.001
UMIC	25.0 26.4	21.5	18.3 17.6	25.0 25.9	0.73	<0.001 0.164
Fever in	20.4	44.0	17.0	23.9	0.00	0.104
past two weeks,	25.9	26.8	23.8	30.1	0.79	<0.001
global	25.2	07.1	00.5	24.4	0.55	.0.004
LIC	27.2	27.1	23.5	31.4	0.75	<0.001
LMIC	26.0	27.2	24.7	30.2	0.82	<0.001

UMIC	20.1	17.0	10.4	21.6	0.48	0.001			
Received treatment at facilities									
	Children with diarrhea in past two weeks								
N*, global	37,936	14,738	20,447	2,751	-	-			
Proportio									
n who									
received	57.6	46.9	43.3	50.1	0.86	0.004			
treatment,									
global									
LIC	47.1	32.4	29.4	35.2	0.84	0.143			
LMIC	62.7	54.6	50.7	58.3	0.87	0.006			
UMIC	46.4	36.7	32.5	38.7	0.84	0.585			
	Chi	ldren with c	ough and/or	fever in past t	wo weeks				
N*, global	59,704	20,596	33,543	5,565	-	-			
Proportio									
n who									
received	60.2	51.0	46.6	55.1	0.85	< 0.001			
treatment,									
global									
LIC	45.5	34.2	29.3	38.9	0.75	0.005			
LMIC	65.4	59.5	54.6	64.0	0.85	< 0.001			
UMIC	58.5	53.1	76.1	41.0	1.86	< 0.001			

Bolded results are statistically significant at alpha=0.05. *N represents the unweighted number of observations for each sub-population in the dataset. *Note: Data were not collected on recent cough, diarrhea, and fever for Kazakhstan, Serbia, Thailand, and Tunisia, so these countries were excluded for the analysis of recent illness and treatment if ill. In addition, data on recent fever were not collected in El Salvador, Sudan, and Viet Nam, so these countries were excluded for the analysis of 'Fever in past two weeks'; these countries were included in the analysis 'Children with cough and/or fever in past two weeks who sought treatment', to consider the children who sought treatment when ill with cough. A data missingness analysis is included in Appendix A.*

To understand the extent of zero dose status and misclassification among the most vulnerable subset of the population, we created simple indicators of cross-cutting vulnerability to identify households at an elevated vulnerability. While a small proportion (3.6%) of children in the overall population are classified as having 'Overall Vulnerability' in our analysis, a substantial proportion of the 'overall vulnerable' population are penta-zero dose (12.1%) and truly zero dose (13.6%), with a statistically significant difference of overall vulnerability between the truly zero dose and misclassified zero dose children (<0.001). This is concentrated in LICs and LMICs, with the strongest difference seen in LICs, suggesting that the misclassified zero dose children are less vulnerable than the truly zero dose children.

In the second indicator, which considers vulnerability related to limited access to maternal care services, although fewer than 1 in 20 children (4.9%) are considered 'Health access vulnerable' by this indicator, in contrast, 1 in 4 (25.2%) truly zero dose children and over 1 in 5 (21.3%) penta-1 zero dose children are 'health access vulnerable', a level considerably higher than that seen in the general population. Globally, in LICs, and in LMICs, the proportion of truly zero dose children considered vulnerable by this indicator is significantly different than that in misclassified zero dose children, again showing less vulnerability in those who are misclassified as zero dose. A very low percentage of the population in UMICs was vulnerable in either of these indicators, as households in UMICs are more connected to the services included in the indicators, which suggests that this may not be an appropriate approach to detect cross-cutting vulnerability in zero dose children in UMICs. Moreover, it would be useful to consider demand-side drivers of vaccine uptake to understand if zero dose in UMICs is driven more by children who are hard to vaccinate (demand issues) than by children who are hard to reach (access issues) (24).

Globally, truly zero dose children are more likely to be considered in our vulnerability indicators than misclassified children, but the magnitude of these effect sizes differs in LICs and LMICs, suggesting the truly zero dose children have different vulnerabilities in LICs vs. LMICs. In LICs, truly zero dose children are 49% more likely to be considered 'overall vulnerable' and 25% more likely to be considered 'health access vulnerable' compared to misclassified zero dose children. This suggests that in LICS, the truly zero dose children have more multi-level vulnerability (i.e., education, poverty) than those misclassified. In comparison, in LMICs, truly zero dose children are 22% more likely to be considered 'overall vulnerable' and 57% more likely to be considered 'health access vulnerable' compared to misclassified zero dose children. This means that the truly zero dose children are considerably more vulnerable in terms of their access to health services than misclassified children, and that using the penta-zero dose definition may dilute the recognition of the health access vulnerability that confronts the most marginalized sub-set of zero dose children in LMICs.

Table 5. Understanding the zero dose population by definition among the most vulnerable households.

househol	as.					
				Comparison b	etween proport	ions
					Comparison	
					of	
	Full population (regardless of vaccinatio n status)	Penta- zero dose children	Truly zero dose childre n	Misclassifie d zero dose children	proportions (proportion of characteristi c in truly vs. misclassified zero dose children)	p-value (comparing truly zero dose and misclassified)
Indicator A Proportio	- Overall vuln	erability : P	oorest weal	lth quintile, no n	naternal educatio	on, 0 ANC visits
n classified						
	3.6	12.1	13.6	10.5	1.20	-0.001
as	3.6	12.1	13.6	10.5	1.30	<0.001
vulnerabl						
e (overall),						
global LIC	3.1	8.8	10.3	6.9	1.40	0.004
LMIC					1.49	
	4.1	14.5	15.8	13.0	1.22	0.010
UMIC	0.0	0.1	0.2	0.0	n/a	0.105
	r B – Health ac	cess vulner	ability: 0 A	INC visits, 0 teta	nus injections, h	ome delivery
Proportio						
n						
classified						
as	4.0	24.0		4= 0	4.40	2 224
vulnerabl	4.9	21.3	25.2	17.0	1.48	<0.001
e (no						
maternal						
care),						
global						
LIC	7.7	22.1	24.0	19.7	1.25	0.012
LMIC	4.5	22.4	27.0	17.2	1.57	< 0.001
UMIC	0.2	0.9	1.6	0.4	4.00	0.085

Bolded results are statistically significant at alpha=0.05.

Globally, 49.7% of children classified as penta-zero dose have received at least the first dose of exactly one other vaccine (BCG, polio, MCV), with half (50.3%) of the misclassified zero dose children have been contacted by the immunization system at least twice (Table 6). This is similar is LICs and LMICs, but a higher proportion of penta-zero dose of children in UMICs have received at least two vaccines (59.9%), with a quarter of penta-zero dose children having receiving BCG, polio, and measles-containing vaccines in UMICs

Table 6. Number of vaccinations received among misclassified zero dose children.

Number of vaccines received among misclassified zero dose children	Misclassified zero dose children, Global	Misclassified zero dose children in Low Income Countries	Misclassified zero dose children in Lower-Middle Income Countries	Misclassified zero dose children in Upper-Middle Income Countries
N*	13,189	5,082	6,518	1,589
1 vaccine	49.7	47.0	51.8	40.2
2 vaccines	33.1	35.5	31.8	34.7
3 vaccines	17.2	17.5	16.4	25.2

Column totals may not equal 100 due to rounding. *N represents the unweighted number of observations for each sub-population in the dataset.

Of the misclassified children who have received one vaccine, 58.1% of them have received the polio vaccine, meaning that they were only reached by the polio vaccine. In LICs, this was higher: 68% of the misclassified zero dose children had only received the polio vaccine (**Table 7**). Notably, in UMICs, 88.9% of misclassified zero dose children who received only one vaccine had only received the BCG vaccine. Less than 5% of children globally and in each country income group received only the measles vaccine, which could in part be a result of the measles vaccine being recommended later in the first year than the other vaccines. Of the children who received two vaccines, most (72.6%) received both polio and BCG vaccines.

Table 7. History of vaccine(s) received among misclassified zero dose children.

	Misclassified zero dose children with 1 vaccine	Misclassified zero dose children with 2 vaccines
Polio, global	58.1	-
LIC	68.0	-
LMIC	64.9	-
UMIC	6.7	-
BCG, global	37.3	-
LIC	27.5	-
LMIC	30.5	-
UMIC	88.9	-
MCV, global	4.6	-
LIC	4.5	-
LMIC	4.6	-
UMIC	4.5	-
Polio + BCG, global	-	72.6
LIC	-	75.1
LMIC	-	70.9

UMIC	-	77.8
Polio + MCV, global	-	16.2
LIC	-	17.9
LMIC	-	16.6
UMIC	-	3.1
BCG + MCV, global	-	11.2
LIC	-	7.0
LMIC	-	12.5
UMIC	-	19.0

4. Discussion

This analysis set out to investigate how using two different approaches to define zero dose children changes the count and profile of zero dose children globally, by country income level grouping, and nationally. We found that the penta-zero dose definition, the widely accepted operational definition, which is defined based on non-receipt of the pentavalent vaccine, overestimates the number and proportion of children who are truly zero dose – that is, children who have received no single vaccine dose from the immunization system, as measured by non-receipt of BCG, polio, pentavalent and measles vaccines. Only about half of the children defined as penta-zero dose were truly zero dose. The other half were misclassified zero dose children though they had received one or more vaccines, indicating that these children were reached at some point by the vaccines system, although they remained under-vaccinated and vulnerable to vaccine preventable diseases.

The demographic correlates of being penta-zero dose are well established (4). Some of these, such as living in the rural area, living in poorer households, having mothers of adolescent age, or mothers with no education, do not differ by the zero dose definition used. However, some differences were observed. Truly zero dose children are 9% more likely to be in the poorest wealth quintile than the misclassified zero dose children, with the differences being statistically significant in LICs and not in the other two country income groups.

In this analysis, we present two novel vulnerability measures derived from variables available in the DHS dataset. The first measure assesses overall vulnerability, which combines socio-demographic risk factors with barriers to healthcare access to estimate a multidimensional burden of vulnerability. The second measure specifically focuses on health access vulnerabilities.

Our findings reveal distinct vulnerability patterns when comparing truly zero dose children to misclassified zero dose children, based on country income groupings. In low-income countries (LICs), truly zero dose children are 49% more likely to be categorized as "overall vulnerable" compared to misclassified zero dose children. Conversely, in lower-middle-income countries (LMICs), truly zero dose children experience a 57% higher burden of health access vulnerability compared to misclassified zero dose children. This suggests that in LICs, truly zero dose children are primarily distinguished by multidimensional barriers, while in LMICs, they are predominantly differentiated by health access vulnerabilities.

Recognizing that the vulnerability of truly zero dose children, both in terms of overall vulnerability and access to healthcare, may be obscured when using the penta-zero dose definition highlights the need for heightened attention to these vulnerabilities during program planning. This is particularly true in settings where resources are constrained and program are able to target interventions. However, implementing this approach in practice poses challenges due to data limitations, which make it difficult to accurately distinguish children who are truly zero dose from those who are not.

The main concern with misclassifying children as zero dose is the implied dilution of attention to the children who are truly zero dose, who have been completely missed by the health system. Currently, the zero dose agenda commands significant resolve, resources and effort from Gavi, the Vaccine Alliance partners and other global, regional and country immunization partners (1, 2). These

efforts are geared toward addressing immunization equity gaps in the last mile, by putting the last child first (1, 2, 25). Under this framing, the truly zero dose children should be given first priority.

But how much does it matter if the use of penta-zero dose means that programs are unable to distinguish truly zero dose children from misclassified zero dose children when the goal is to close immunity gaps amongst the children at the highest risk of infection? Are misclassified zero dose children really at a relatively lower risk of vaccine preventable diseases than truly zero dose children? It is unlikely to be the case. Among penta-zero dose children who had received only one other vaccine, two thirds (68%) had received the polio vaccine, while only 4.6% had received the measles vaccine. This means that the majority were unprotected against measles, a major cause of disease outbreaks and the tracer disease for the immunization system. If the vast majority of misclassified zero dose children were not vaccinated against measles, it could be argued that not much is lost by focusing on penta-zero dose children since most of them are zero dose for measles vaccine.

4.1. Strengths of the Analysis

A strength in the analysis is that it includes data from 82 low- and middle-income countries, which allows for comprehensive, global understanding of the zero dose populations, with results available at the global and country income levels. The nature of this multi-country analysis and the use of popular secondary data allows for comparisons across different populations. Utilizing multiple nationally representative surveys enabled us to describe the characteristics and connection with the health system of over 13 million children, as represented by the nearly 200,000 observations in our analysis. In addition, the large sample size enabled us to run several analyses on subpopulations (i.e., the most vulnerable 5% of the population) and still be able to make statistical inferences at the alpha=0.05 level. While this analysis brings the new insight comparing the definitions and introducing the concept of misclassified zero dose children, it aligns with sociodemographic factors that are considered in other analyses, which can further allow comparison and alignment across research (26, 27, 28, 29). It also looks at the zero dose definitions and the extent of misclassification in subsets of the population that is at elevated vulnerability. In addition, the timeliness of the analysis is important, as much action and research is ongoing in the zero dose space. The findings in this analysis can be replicated as additional DHS, MICS, and other data sources are made available.

4.2. *Limitations of the Analysis*

We were limited by the available data in our analysis, so several low- and middle-income countries without DHS/MICS data available since 2010 were not included. In addition, a small number of UMICs were included in our analysis due to data availability, which hinders the generalizability of these results to other UMIC settings. DHS/MICS survey are reported to undersample the population in urban poor settings, as DHS/MICS rely on census estimates that can be less reliable in urban areas (30, 31). In addition, due to security challenges, surveys may not have access to areas experiencing conflict, which can undersample children in conflict or humanitarian settings (32). Both urban poor and conflict-affected settings are identified as areas with a high proportion of zero dose children by the Equity Reference Group and has been widely accepted in the global immunization community, so additional resources and analyses are likely needed to understand the zero dose population and immunization dynamics in these settings (25, 32, 33).

While the profile of zero dose children in LICs and LMICs was generally similar, the profile at times differed in UMICs (i.e., in treating child illness and in the vaccines received in misclassified zero dose children), suggesting that factors not included in our analysis may impact non-immunization more in those settings, including demand-related factors. The scope of analysis was to only consider household-level factors, not health systems factors or demand-related factors, which likely impact zero dose status as well.

Lastly, all of the data included were collected prior to the COVID-19 pandemic so does not capture the changing immunization and health landscape. UNICEF, WHO, and other researchers have reported that immunization coverage estimates have declined since the COVID-19 pandemic,

so our estimates likely underrepresent the number and proportion of zero dose children in the countries included in our analysis (33, 34). Although the data is somewhat older for some of our countries, we find that it is appropriate to include, as a major driver of the focus on zero dose children is the stagnating immunization coverage rates over the past decade (19).

5. Conclusions

Questions regarding the two definitions of zero dose children have been thoroughly examined in our analysis. We have found that the purist definition of truly zero dose can identify a subgroup of penta-zero dose children with a higher vulnerability profile than the other subgroup which we call the misclassified zero dose children. This differentiation proves valuable in understanding the varying levels of vulnerability among zero dose children.

We also found the penta-zero dose construction provides a pragmatic definition of zero dose that can be easily measured using existing routine data. This makes it a practical definition for routine program planning, monitoring, and data utilization for action. In contrast, the truly zero dose definition relies on survey data available only at multi-year intervals, rendering it impractical for ongoing program monitoring.

Finally, it is worth noting that although the truly zero dose population demonstrates a higher vulnerability profile compared to misclassified zero dose children, both groups share common characteristics, in particular, most are zero dose for measles vaccination. This indicates that the pentazero dose definition not only offers easier measurement but captures the children with the most critical immunity gaps, making it a valuable definition for identifying and addressing immunization program needs to achieve vaccine equity.

Author Contributions: Conceptualization, C.W. and B.F.; methodology, C.W. and B.F.; formal analysis, C.W. and B.F.; data curation, C.W. and B.F.; software, B.F.; validation, B.F. and C.W.; writing—original draft preparation, C.W. and B.F..; writing—review and editing, C.W. and B.F.; visualization, C.W. and B.F.; supervision, C.W.; project administration, C.W..; funding acquisition, C.W. (n/a). All authors have read and agreed to the published version of the manuscript.

Funding: This research received no external funding.

Institutional Review Board Statement: Not applicable, as the study involves publicly available secondary data.

Informed Consent Statement: Not applicable, as the study involves secondary data

Data Availability Statement: All data are publicly available for download from the Demographic and Health Survey Program (https://dhsprogram.com) and the Multiple Indicator Cluster Survey program (https://mics.unicef.org/surveys).

Conflicts of Interest: The authors declare no conflict of interest.

Appendix

Appendix A:

Table A1. Percent of missing data for each variable in the full study population and across country income levels. Data were not missing for the vaccines (BCG, polio, pentavalent, and MCV), for urban/rural living, wealth quintile, and sex of child. Past maternal tetanus injections and past antenatal care visits had the highest level of data missingness. As described below, certain countries were excluded from the missingness analysis if data were not collected for select indicators.

Variable	Globally (% missing)	Low income countries (% missing)	Lower-middle income countries (% missing)	Upper-middle income countries (% missing)
Adolescent age of mother	1.0	0.7	0.6	3.8
Mother education level	1.2	0.7	0.9	3.8
Antenatal care visits	9.0	9.2	7.8	15.3
Maternal tetanus injections*	13.9	11.0	13.3	25.6
Place of delivery	1.6	1.3	1.1	5.6
Child had diarrhea in past two weeks**	0.4	0.5	0.3	0.8
Child had cough in past two weeks **	0.4	0.5	0.3	0.7
Child had fever in past two weeks ***	0.4	0.4	4.6	0.7

^{*} The following countries were excluded from the analysis on maternal tetanus injection because they had 100% missing data (data was not collected for this variable): Albania, Armenia, Bangladesh, Kazakhstan, Kyrgyzstan, Mongolia, Serbia, Tajikistan. The missingness presented here is across the other 76 countries included in the analysis. ** The following countries were excluded from the analysis on recent child diarrhea and recent child cough because they had 100% missing data (data was not collected for this variable): Kazakhstan, Serbia, Thailand, Tunisia. The missingness presented here is across the other 78 countries included in the analysis. *** The following countries were excluded from the analysis on recent child fever because they had 100% missing data (data was not collected for this variable): El Salvador, Kazakhstan, Serbia, Sudan, Thailand, Tunisia, Viet Nam. The missingness presented here is across the other 75 countries included in the analysis.

References

- World Health Organization. Immunization Agenda 2030: a global strategy to leave no one behind. Geneva: WHO; 2020.
- 2. Gavi the Vaccine Alliance. Gavi, the vaccine alliance strategy 2021-2025: Leaving no one behind with immunization. Geneva: Gavi, the Vaccine Alliance.; 2021.
- 3. Gavi the Vaccine Alliance. Guidance on Use of Gavi Support to Reach Zero Dose Children and Missed Communities 2021 [Available from: https://irp.cdn-website.com/44236788/files/uploaded/Gavi Zero-dose FundingGuidelines.pdf.
- 4. Fulker J. The Zero-Dose Child: Explained Gavi, the Vaccine Alliance2021 [Available from: https://www.gavi.org/our-alliance/strategy/phase-5-2021-2025.
- 5. Cata-Preta BO, Santos TM, Mengistu T, Hogan DR, Barros AJD, Victora CG. Zero-dose children and the immunisation cascade: Understanding immunisation pathways in low and middle-income countries. Vaccine. 2021;39(32):4564-70.
- 6. Bosch-Capblanch X, Ronveaux O, Doyle V, Remedios V, Bchir A. Accuracy and quality of immunization information systems in forty-one low income countries. Trop Med Int Health. 2009;14(1):2-10.
- 7. Dolan SB, MacNeil A. Comparison of inflation of third dose diphtheria tetanus pertussis (DTP3) administrative coverage to other vaccine antigens. Vaccine. 2017;35(27):3441-5.
- 8. Cutts FT, Claquin P, Danovaro-Holliday MC, Rhoda DA. Monitoring vaccination coverage: Defining the role of surveys. Vaccine. 2016;34(35):4103-9.
- Cutts FT, Izurieta HS, Rhoda DA. Measuring coverage in MNCH: design, implementation, and interpretation challenges associated with tracking vaccination coverage using household surveys. PLoS Med. 2013;10(5):e1001404.
- 10. Scobie HM, Edelstein M, Nicol E, Morice A, Rahimi N, MacDonald NE, et al. Improving the quality and use of immunization and surveillance data: Summary report of the Working Group of the Strategic Advisory Group of Experts on Immunization. Vaccine. 2020;38(46):7183-97.

- 11. World Health Organization. Global Framework for Immunization Monitoring and Surveillance: GFIMS. World Health Organization; 2007.
- 12. Stashko LA, Gacic-Dobo M, Dumolard LB, Danovaro-Holliday MC. Assessing the quality and accuracy of national immunization program reported target population estimates from 2000 to 2016. PLoS One. 2019;14(7):e0216933.
- 13. Brownwright TK, Dodson ZM, van Panhuis WG. Spatial clustering of measles vaccination coverage among children in sub-Saharan Africa. BMC Public Health. 2017;17(1):957.
- 14. Lim SS, Stein DB, Charrow A, Murray CJ. Tracking progress towards universal childhood immunisation and the impact of global initiatives: a systematic analysis of three-dose diphtheria, tetanus, and pertussis immunisation coverage. The Lancet. 2008;372(9655):2031-46.
- 15. ICF. Demographic and Health Surveys (various) [Datasets]. In: USAID Fb, editor. Rockville, Maryland: ICF; 2010-2020.
- 16. National Bureau of Statistics (NBS) and United Nations Children's Fund (UNICEF). Multiple Indicator Cluster Survey (various) [Datasets]. In: Fund. NBoSaUNCs, editor. 2010-2020.
- 17. ICF International. Demographic and Health Survey Sampling and Household Listing Manual. . MEASURE DHS, Calverton, Maryland, U.S.A.: ICF 2012.
- 18. World Bank Group. World Bank Country and Lending Groups. 2021 [Available from: https://datahelpdesk.worldbank.org/knowledgebase/articles/906519-world-bank-country-and-lending-groups
- 19. World Health Organization and UNICEF. WHO-UNICEF Estimates of National Immunization Coverage (WUENIC), 1990-2021 (July, 2022). 2022.
- 20. United Nations Population Division: Department of Economic and Social Affairs. World Population Prospects 2022: Births (both sexes combined) by region, subregion and country, 1950-2100 (thousands). 2022.
- 21. Santos TM, Cata-Preta BO, Victora CG, Barros AJD. Finding Children with High Risk of Non-Vaccination in 92 Low- and Middle-Income Countries: A Decision Tree Approach. Vaccines (Basel). 2021;9(6).
- 22. Graubard BI, Korn EL. Hypothesis Testing with Complex Survey Data: The Use of Classical Quadratic Test Statistics with Particular Reference to Regression Problems. Journal of the American Statistical Association. 1993;88(422):629-41.
- 23. StataCorp. Stata Survey Data Reference Manual: Release 13. College Station, TX: StataCorp LP; 2013.
- 24. Ozawa S, Yemeke TT, Evans DR, Pallas SE, Wallace AS, Lee BY. Defining hard-to-reach populations for vaccination. Vaccine. 2019;37(37):5525-34.
- 25. Equity Reference Group for Immunization. A focus on "zero dose" children: Key issues for consider- ation. 202. 2020.
- 26. Bosch-Capblanch X, Banerjee K, Burton A. Unvaccinated children in years of increasing coverage: how many and who are they? Evidence from 96 low- and middle-income countries. Trop Med Int Health. 2012;17(6):697-710.
- 27. Saad-Haddad G, DeJong J, Terreri N, Restrepo-Mendez MC, Perin J, Vaz L, et al. Patterns and determinants of antenatal care utilization: analysis of national survey data in seven countdown countries. J Glob Health. 2016;6(1):010404.
- 28. Tesema GA, Tessema ZT, Tamirat KS, Teshale AB. Complete basic childhood vaccination and associated factors among children aged 12-23 months in East Africa: a multilevel analysis of recent demographic and health surveys. BMC Public Health. 2020;20(1):1837.
- 29. Ozigbu CE, Olatosi B, Li Z, Hardin JW, Hair NL. Correlates of Zero-Dose Vaccination Status among Children Aged 12-59 Months in Sub-Saharan Africa: A Multilevel Analysis of Individual and Contextual Factors. Vaccines (Basel). 2022;10(7).
- 30. Elsey H, Thomson DR, Lin RY, Maharjan U, Agarwal S, Newell J. Addressing Inequities in Urban Health: Do Decision-Makers Have the Data They Need? Report from the Urban Health Data Special Session at International Conference on Urban Health Dhaka 2015. J Urban Health. 2016;93(3):526-37.
- 31. Thompson B, Cohen MJ, Meerman J. World food insecurity and malnutrition: scope, trends, causes and consequences. The impact of climate change and bioenergy on nutrition: Springer; 2012. p. 21-41.
- 32. Wigley A, Lorin J, Hogan D, Utazi CE, Hagedorn B, Dansereau E, et al. Estimates of the number and distribution of zero-dose and under-immunised children across remote-rural, urban, and conflict-affected settings in low and middle-income countries. PLOS Global Public Health. 2022;2(10).
- 33. COVID-19 pandemic leads to major backsliding on childhood vaccinations, new WHO, UNICEF data shows [press release]. Geneva/New York, 15 July 2021 2021.
- 34. Shet A, Carr K, Danovaro-Holliday MC, Sodha SV, Prosperi C, Wunderlich J, et al. Impact of the SARS-CoV-2 pandemic on routine immunisation services: evidence of disruption and recovery from 170 countries and territories. The Lancet Global Health. 2022;10(2):e186-e94.

18

Disclaimer/Publisher's Note: The statements, opinions and data contained in all publications are solely those of the individual author(s) and contributor(s) and not of MDPI and/or the editor(s). MDPI and/or the editor(s) disclaim responsibility for any injury to people or property resulting from any ideas, methods, instructions or products referred to in the content.